Year 2 maths - Summer 2 Week beginning: 15.6.20
YOU ARE NOT USING YOUR MATHS NO PROBLEM BOOK THIS WEEK!
Money Lesson 1 (of 5) Money Lesson 2 (of 5) quey Lesson 3 (of 5) quey Lesson 4 (of 5) Money Lesson 5 (of 5)
Theme . Counting money (pounds and Showing equal amounts of Showing equal amounts of .
Counting money (pounds) Calculating total amount
pence) money money
Factual How much are these coins MmN S e Count dll the coins to figure. Which group shows_the same Exchanaing coins
fluency (to worth? (Complete 10 questions) out how much money there is. amount of coins? (Complete 10 questions)
aid fluency) (Complete 10 questions) P a (Complete 10 questions) (Complete 10 questions) P a
(Lesson 1 resources below) (Lesson 2 resources below) (Lesson 3 resources below) (Lesson 4 resources below) (Lesson 5 resources below)
MAKING LINKS: Earlierin the MAKING LINKS: Yesterday you | MAKING LINKS: Yesterday you | MAKING LINKS: Yesterday you | MAKING LINKS: Over the last
year you were learning fo learnt about countfing money | learnt about counting money | learnt about showing equal two days you learnt about
count money, show equal in pounds. in pounds and pence. amounts of money. showing equal amounts of
amounts of money, calculate money.
fotal amounts and calculate THINK: (support below) THINK:(support below) THINK:(support below)
change. We are going to Can you help me solve this Can you help me solve this Can you help me with this THINK:(support below)
consolidate our knowledge problem? Dominic and problem? Pearl thinks that she | problem? This pen costs 65p. Can you help me solve this
about money this week. Charlofte have these coins has more money than Charlie. | How can | pay forite Can | probleme Harry goes
Pro!‘)l.em/ with them. How much does Charlie thinks he has more pay forit in different ways? shopping for some new
activity of | 1y NK: (support below) each child have? My friend money than Pearl. Who is How many ways can you clothes. He buys a t-shirt for
the day Can you help me solve this says that Charlotte has less correcte find? £23 and a pair of trousers for
problem? Tim and Hannah money because she has £45. How much money does
Remember, | have saved different amounts | fewer coins? Is my friend ‘ ‘ . . Harry spend in total?
just like in of money. My friend says that correcte 7
class, you they both have the same @e o
can still amount of money. Is this ‘
show the correcte @ \j\
depth of SEE: (model below)
your Watch this video to see some SEE: (model below)
knowledge SEE: (model below) of the different ways | can Watch this video to see how
LINK Watch this video to see if my make 65p. we can solve this problem
friend is correct. using the bar model.
DO: Now try to solve the
DO: Now try to solve the problems below. If you have forgotften how to
SEE: (model below) problems below. use the formal method for
Watch this video to see if my SEE: (model below) addition, follow this link here
friend is correct. Watch this video to see if my for a reminder.
friend is correct.
DO: Now try to solve the
DO: Now try fo solve the DO: Now try fo solve the problems below.
problems below. problems below.
m;thgg; Day 1 resources and answers Day 2 resources and answers Day 3 resources and answers Day 4 resources and answers Day 5 resources and answers
Py ci\ecks (below) (below) (below) (below) (below)

See below for resources to support you to THINK-SEE-DO
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https://uk.ixl.com/math/year-2/coin-values
https://uk.ixl.com/math/year-2/coin-values
https://uk.ixl.com/math/year-2/count-1p-2p-5p-and-10p-coins
https://uk.ixl.com/math/year-2/count-all-coins
https://uk.ixl.com/math/year-2/count-all-coins
https://uk.ixl.com/math/year-2/equivalent-groups-of-coins
https://uk.ixl.com/math/year-2/equivalent-groups-of-coins
https://uk.ixl.com/math/year-2/exchanging-coins
https://q1e.co.uk/data/dynamic/spaw/documents/How%20%20can%20I%20show%20the%20depth%20of%20my%20knowledge.pdf
https://vimeo.com/424728802/22738b9458
https://vimeo.com/424734567/9253b7d260
https://vimeo.com/424753279/c3f3db7de8
https://vimeo.com/424776963/20e3187105
https://vimeo.com/425185660/1eaaccb9b2
https://www.belleville-school.org.uk/our-learning/calculation-videos

DAY 1 RESOURCES:

THINK: Can you help me solve this problem?2 Tim and Hannah have
saved different amounts of money. My friend says that they both have
the same amount of money. Is this correct?
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SEE: Optional video link.

We count on to find the amount. We can use our

10s and 5s to help us count the amount. £10, £20,

£25

£10, £15,
£20

Lulu has saved £20.

My friend was wrong! Just because they had the same number of
notes, doesn’'t mean that they have the same amount.

DO: Write the amount of money shown for each question. Don’t forget
your pound sign (£). Draw your dienes to help you!

a0y !

@

2)
3)
4)
5) ““’:‘;{*“ " ]
6)

Deepening: Would you rather have half of £20 or half of £222 Explain
your answer.
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https://vimeo.com/424728802/22738b9458

DAY 2 RESOURCES:

THINK: Can you help me solve this problem?2 Dominic and Charlotte
have these coins with them. How much does each child have?e My
friend says that Charlotte has less money because she has fewer
coinse Is my friend correct?e
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SEE: Optional video link.

We can count on to find the amount. We count the pounds and
pence separately. You could draw dienes like in the video to help you

count the pence!
PR Q Q &5 ! 20p, 30p,

Charlotte has £2 and 80p.

Charlotte has more money. Just because Charlotte has fewer coins
does not mean she has less money.

-

DO: Add up the money in the boxes first to find the correct amount
and then match them up.

£25

52p

£3 and 70p

£1 and 43p

Deepening: Lisa went to the shop. She bought an apple for 25p and
a bag of sweets for 50p. How much did she spend altogether?
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https://vimeo.com/424734567/9253b7d260

DAY 3 RESOURCES:

THINK: Can you help me with this problem? Pearl thinks that she has
more money than Charlie. Charlie thinks he has more money than
Pearl. Who is correct?

SEE: Optional video link.

50, 70, 72,
74,75.
75 pence.

20, 40, 60,
70, 75.
75 pence.

Charlie has £2 and 75 pence.
Pearl and Charlie have the same amount of money. We can make
the same amount of money using different combinations of coins.

DO: Add up the money in the boxes first to find the correct amount
and then match them up with an equal amount.
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https://vimeo.com/424753279/c3f3db7de8

DAY 4 RESOURCES:

THINK: Can you help me with this problem?2 This pen costs 65p. How
can |l pay forit?2 Can | pay for it in different ways2 How many ways

can you find?e
&I X @

EE: Optional video link. We can make many different combinations.

We can make 65p using:
S0p + 10p + 5p

We can make 65p using:
20p + 20p + 20p + 5p

We can make 65p using: 10p + 10p
+10p+10p+10p+10p+2p+2p +
P

DO: Use different combinations of coins to make these amounts. These
are the coins you can use. Draw the coins to show the amount.

1. How many different ways can | pay for a
bouncy ball that costs 35p2

2. How many different ways can | pay for a toy
that costs 72p@

3. How many different ways can | pay for
A bag of apples that costs 84p2

Deepening: What is the fewest number of coins | could use to
pay for the bag of apples?
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https://vimeo.com/424776963/20e3187105

DAY 5 RESOURCES:

THINK: Can you help me solve this problem?2 Harry goes shopping for
some new clothes. He buys a t-shirt for £23 and a pair of frousers for
£45. How much money does Harry spend in total?

SEE: Optional video link.
Follow this link here if you need a reminder for how to use the formal
method of addition.

We can use a bar model to help us solve this problem. We will show
our answer following the format of bar model, equation and

statement. \
g3 | £45 ‘
Bar model:
2
Equation: 23

Step One: Add the ones (If
there are more than ten ones,
you must rename ones as
tens)

Step Two: Add the tens

+45
68

Statement: Harry spent £68 in total.

DO: Fillin the blanks.
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1) What is the total cost of the books and the paints?
2) Whatis the total cost of the toy robot and the yoyo?
3) Whatis the total cost of the toy doll and the dice?
Solve.

4) Suzie bought anice cream for 45p. She also bought a lolly for 34p.
How much did Suzie spend altogethere

4§p 3‘4|o
Bar model:
\ )
2
¢ 45
Equation: + = +34
79
Statement:

Deepening: How much change would Suzie get if she paid the cashier
£12
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https://vimeo.com/425185660/1eaaccb9b2
https://www.belleville-school.org.uk/our-learning/calculation-videos

ANSWERS:
DAY 1:

DO: Write the amount of money shown for each question. Don't forget
your pound sign (). Draw your dienes to help youl
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Deepening: I'd rather have half of £22 because half of 22
is 11 and half of 20is 10, so 11 is bigger than 10.

DAY 2:

DO: Add up the money in the boxes first to find the corect amount
and then maich them up.

£25

52p

£3 and 70p

&1 and 43p

Deepening: Lisa spent 75p.
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DAY 3: DAY 4:

DO: Add up the money in fhe boxes first to find the correct amount OD: Uze different combinotfions of coins to make these amountz. Thess
and then match them up with an equal amount. are the coins you can use. Drow the coins fo show the amount.

1. How mmany different ways can | pay fora

bouncy ball that costs 35pE

There are many different ways. Get an

adult to check yours but here are some examples:
20+ 10p+ 5p

10+ 10p+ 10p + 5p
10p+10p+5p+5p+5p _
2. How many different ways can | pay fora ’rc:n,.r '
that cosis 7203

Examples:

Hp+20p+2p

Jp+10p+10p+ip+1p
2p+2p+20p+10p+2p

3. How many different ways con | pay for
A bog of apples that costs 84p2
Examples:

Hp+20p+10p+2p+2p
2p+p+2X0p+20p+2p+2p
p+10p+10p+10p+ip+ip+ip+ip
Deepening: What is the fewest numoer of coing | could use to
pay for the bag of apples? S coins: S0p +20p + 10p + 2p + 2|::|
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DAY 5:

DO Fill in the blanks.

000000
LLEBN LT L)

22p =
18p
- 48 -
m P L0 o
o | s
1 40p M+
11 What iz the total cost of the books and the paintst Gép
2] What is the total cost of the toy robot and the yvoyo® &&p

3] What iz the fotal cost of the toy doll ond the dice® 40D

Salve,

4] Suzie bought an ice cream for 43p. 3he ako bought a lolly for 34p.
How much did Suze spend altogether?

& e
Bar model:
T J
z 45
Equation: _ 45 +_ 34 =_79%_ 134
79

Statement: Suzie spent 79p altogether.

Deepening: How much changes would Suzie get if she poid the coshier
E12 | know there 5 100p in £1. 100 =72 = 21
Suzie would get 21p change.
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